
In
s
ta

lla
tio

n
 illu

s
tra

te

Web：https://www.mwworkstation.com/

Tel：+86 13695211636

Mail：robbor@mwworkstation.com

VL



VL

--------------------------- 1P

7P---------------------------

9P---------------------------

11P---------------------------

12P---------------------------

16P---------------------------

2P---------------------------

3P---------------------------

5P---------------------------

Contents

Components

Freestanding Dedk

Manager table

Row 2 person Workstation 

Opposite 4 person Workstation 

X Shape Workstation   Meeting 

Table

Modesty Panel And 
Single Side Desk Screen

Face To Face Desk Screen 

Side Desk Screen

14P---------------------------

www.mwworkstation.com


VL
PARTS SHOW

FAST AND CONVENIENT INSTALLATION SYSTEM

DESK SYSTEM SCREEN SYSTEM

Components

[ H750 desk screen ] [ H350 desk screen ] [ Modesty ]

[ A wire box ] [ B wire box ] [ Connector ] [ Supprtor box ]

[ Flat head screw M6*16 ] [ Flat head screw M8*16 ] [ Return cabinet ]

[ Leg ] [ Side bar ] [ Connection bar & Plastic snake ] [ Mid-leg ]

[ Countersunk cross topping 
screw M4*16 ]

[ Flat head screw M5*12 ] [ Flat head screw M5*12 ] [ Flat head screw M5*12 ]

[ Countersunk cross topping 
screw M4*16 ]

[ Countersunk cross topping 
screw M4*16 ]

1/17mwworkstation.com

www.mwworkstation.com


VL
INSTALLATION STEPS

FAST AND CONVENIENT INSTALLATION SYSTEM

DESK SYSTEM SCREEN SYSTEM

Freestanding Desk

B

C

M8*16mm

A
A

M8*16mm

2X

Round head cross screw M8*16

All at the top

CAUTION

OK

C

B
B

M6*16mm

1
6

17

8

Round head cross screw
 M6*16

1
6

13

6

Countersunk cross topping 
screw M4*16

1
6

6.4

4

B Wire box

M4*16mm

2/17mwworkstation.com

www.mwworkstation.com


VL
INSTALLATION STEPS

FAST AND CONVENIENT INSTALLATION SYSTEM

DESK SYSTEM SCREEN SYSTEM

Manager Table

All at the top

1X

OK

B

B

A

A

M8*16mm

Round head cross screw M8*16 CAUTION

1
6

17

8

C

c CAUTION

Countersunk cross topping 
screw M4*16

1
6

6.4

4

B

M8*16mm

3/17mwworkstation.com

www.mwworkstation.com


VL
INSTALLATION STEPS

FAST AND CONVENIENT INSTALLATION SYSTEM

DESK SYSTEM SCREEN SYSTEM

Manager Table

C

C

Round head cross screw
 M8*16

1
6

13

6

CAUTION

c

Countersunk cross topping 
screw M4*16

1
6

6.4

4

M8*16mm

STEP：①

[Flat head screw M5*12]

1
2

17

6

STEP：②

C

M4*16mm

4/17mwworkstation.com

www.mwworkstation.com


VL
INSTALLATION STEPS

FAST AND CONVENIENT INSTALLATION SYSTEM

DESK SYSTEM SCREEN SYSTEM

Row 2 person Workstation

B

B

A
A

M8*16mm

2X

Round head cross screw M8*16 CAUTION

1
6

17

8

B

Round head cross screw
 M8*16

1
6

17

C

All at the top

OK

B

M8*16mm

C

M6*16mm

8

5/17mwworkstation.com

www.mwworkstation.com


VL
INSTALLATION STEPS

FAST AND CONVENIENT INSTALLATION SYSTEM

DESK SYSTEM SCREEN SYSTEM

Row 2 person Workstation

AB Wire box

Countersunk cross topping 
screw M4*16
1
6

6.4

4

Countersunk cross topping 
screw M4*16

1
6

6.4

4

CAUTION

STEP：①

STEP：②

M4*16mm

M4*16mm

C

C

[Flat head screw M5*12]

1
2

17

6

M4*16mm

6/17mwworkstation.com

www.mwworkstation.com


VL
INSTALLATION STEPS

FAST AND CONVENIENT INSTALLATION SYSTEM

DESK SYSTEM SCREEN SYSTEM

B

B

A
A

M8*16mm

2X

Round head cross screw M8*16

1
6

17

8

B

C

Round head cross screw
 M8*16

1
6

17

C

CAUTION

All at the top

OK

B

M8*16mm

M6*16mm

8

7/17

Opposite 4 person 
Workstation

mwworkstation.com

www.mwworkstation.com


VL
INSTALLATION STEPS

FAST AND CONVENIENT INSTALLATION SYSTEM

DESK SYSTEM SCREEN SYSTEM

Opposite 4 person 
Workstation

AB Wire box

M4*16mm

M4*16mm

Countersunk cross topping 
screw M4*16

1
6

6.4

4

8/17mwworkstation.com

www.mwworkstation.com


VL
INSTALLATION STEPS

FAST AND CONVENIENT INSTALLATION SYSTEM

DESK SYSTEM SCREEN SYSTEM

X Shape Workstation   

Round head cross screw
 M6*16

1
6

13

6

Round head cross screw
 M6*16

1
6

10

6

B

B

A
A

M8*16mm

4X

Round head cross screw M8*16

1
6

17

8

B

CAUTION

All at the top

OK

B

M8*16mm

C

C

9/17mwworkstation.com

www.mwworkstation.com


VL
INSTALLATION STEPS

FAST AND CONVENIENT INSTALLATION SYSTEM

DESK SYSTEM SCREEN SYSTEM

X Shape Workstation

Countersunk cross topping 
screw M4*16

1
6

6.4

4

A

Round head cross screw
 M8*16

1
6

13

In the middle

A
B

B

CAUTION

OK

Countersunk cross topping 
screw M4*16

1
6

6.4

4

AB Wire box

M4*16mm

M4*16mm

8

10/17mwworkstation.com

www.mwworkstation.com


VL
INSTALLATION STEPS

FAST AND CONVENIENT INSTALLATION SYSTEM

DESK SYSTEM SCREEN SYSTEM

Meeting Table

step 1 step 2 step 3

step 4 step 5

step 6 step 7

11/17mwworkstation.com

www.mwworkstation.com


VL
PARTS SHOW

FAST AND CONVENIENT INSTALLATION SYSTEM

DESK SYSTEM SCREEN SYSTEM

Screw Size

A :       M6×8mm

﹢A  :       φ10×2mm

B :       M6×12 M4×12

C :       M5×20

A

A﹢

B

C

12/17

Modesty Panel And
Single Side Desk Screen

mwworkstation.com

www.mwworkstation.com


VL
INSTALLATION STEPS

FAST AND CONVENIENT INSTALLATION SYSTEM

DESK SYSTEM SCREEN SYSTEM

2

3

1

13/17

Modesty Panel And
Single Side Desk Screen

mwworkstation.com

www.mwworkstation.com


VL
PARTS SHOW

FAST AND CONVENIENT INSTALLATION SYSTEM

DESK SYSTEM SCREEN SYSTEM

A

B

Screw Size

A :       M6×8mm

B :       M5×20

14/17

Face To Face Desk
Screen

mwworkstation.com

www.mwworkstation.com


VL
INSTALLATION STEPS

FAST AND CONVENIENT INSTALLATION SYSTEM

DESK SYSTEM SCREEN SYSTEM

3

4

1 2

15/17

Face To Face Desk
Screen

mwworkstation.com

www.mwworkstation.com


VL
PARTS SHOW

FAST AND CONVENIENT INSTALLATION SYSTEM

DESK SYSTEM SCREEN SYSTEM

A

Screw Size

A :       M6×30mm

16/17

Side Desk Screen

mwworkstation.com

www.mwworkstation.com


VL
INSTALLATION STEPS

FAST AND CONVENIENT INSTALLATION SYSTEM

DESK SYSTEM SCREEN SYSTEM

Side Desk Screen

1

2 3

17/17mwworkstation.com

www.mwworkstation.com
www.mwworkstation.com


Web: mwworkstation.com

Mail: robbor@mwworkstation.com

Tel: +86 13695211636

WhatApp: + 86 13695211636

Add: NO.3 Xingye North Road Dawotang Industrial 

District Shishan Nanhai Foshan City Guangdong

P.R China

WhatApp

Facebook Instagram Twitter Pinterest Linkein YouTube

https://www.facebook.com/MW-Office-Furniture-109746601654211/?ref=pages_you_manage
https://www.instagram.com/mwworkstation/
https://www.twitter.com/mwworkstation
https://www.pinterest.com/mwworkstation/
https://www.linkedin.com/company/mwworkstation
https://www.youtube.com/channel/UC5g8NpulD7US2ZFOViOBRzg

	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	安装封面
	页 1

	安装封尾
	页 1




